5-for-5 Spelling, Punctuation and Grammar Answers
Test Two

Which option completes the sentence in the past perfect? Tick one.

The teacher the questions up on the whiteboard for us
to complete.

Tick one.
was putting |:|
put |:|
had put
has put |:|

P Content Domain: G4.1b: Verbs in the perfect form

Look at the two sentences below and explain how the comma has changed
the meaning.

a. We ate chocolate cake and strawberries.
b. We ate chocolate, cake and strawberries.

Any response with an explanation that there are three items eaten
in the second sentence e.g. In sentence a, two items have been eaten,
whereas in sentence b, three items have been eaten.

P Content Domain: G5.6a: Commas to clarify meaning

n Circle two words that are antonyms of each other in the sentence below.

I hoped 1 wasenough to ride the rollercoaster, but my brother

said I was too

P Content Domain: G6.1: Synonyms and antonyms

Write the contracted form of the underlined words in the sentence below.
Remember to punctuate correctly.

4

Dogs should not be left alone for long periods of time.

shouldn't

P Content Domain: G5.8: Apostrophes

H Underline the determiners in the sentence below.

Before the term started in September, we went shopping for some
new stationery.

P Content Domain: G1.8: Determiners
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